
p = 264043379   Check that p is strong prime; p = 268435019

g = 2 g = 2

PP = (p = 268435019, g = 2)
>> p = 268435019
p =  268435019
>> isprime(p)
ans = 1
>> q=(p-1)/2
q =  134217509
>> isprime(q)
ans = 1
>> g = 2
g =  2
>> mod_exp(g,q,p)
ans = 268435018
>> mod_exp(g,2,p)
ans = 4

p =  268435019, g =  2

>> u=randi(p-1)
u =  196333506
>> A=mod_exp(g,u,p)
A = 111926898

>> z=randi(p-1)
z =  244646552
>> A1=mod_exp(g,z,p)
A1 = 207016610

>> v=randi(p-1)
v =  93013145
>> B=mod_exp(g,v,p)
B = 52377747

>> w=randi(p-1)
w =  257956572
>> B1=mod_exp(g,w,p)
B1 = 99413947

>> k1=mod_exp(B1,u,p)
k1 = 238551491

>> k11=mod_exp(A,w,p)
k11 = 238551491

>> k22=mod_exp(B,z,p)
k22 = 166390100

>> k2=mod_exp(A1,v,p)
k2 = 166390100
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